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QUESTION 1

How many IP addresses do you need at a minimum for the client subnet when you plan to have four Exadata compute
nodes onExadata Cloud Service?

A. 32

B. 14

C.4

D. 18

E.8

Correct Answer: D

((3 address * 2 nodes) +3 for SCANs +3 reserved in subnet )

QUESTION 2

Which TWO statements are true about Interface for Exadata I/O Resource Management (IORM)? (Choose all correct
answers)

A. IORM allows workloads and databases to share 1/0O resources automatically according to admin-defined policies.
B. IORM can be enabled across multiple databases using the Cloud interface of Exadata Cloud Service.

C. IORM allows workloads and databases to share I/O resources automatically according to user requests.

D. IORM can be enabled across multiple Exadata Racks using the Cloud interface of Exadata Cloud Service.

Correct Answer:. AB

QUESTION 3

You want to move an Exadata Cloud@Customer VM cluster to a different OCI compartment for increased isolation from
other teams that use Exadata. What happens when you use the console to do this?

A. The VM cluster and associated databases will move to the new compartment. All other resources will remain in the
existing compartment.

B. After it is deployed, a VM cluster cannot change compartments.

C. The vm cluster, compute nodes, and associated databases willmove compartments. All other resources will remain in
the existing compartment.

D. The vM cluster, compute nodes, and underlying Exadata infrastructure will move to the new compartment. All other
resources remain the same.

Correct Answer: C
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QUESTION 4

What permissions do you need to perform actions on a NoSQL table?
A. NOSQL_TABLE_INSPECT, NOSQL_TABLE_UPDATE

B. NOSQL_TABLE_WRITE, NOSQL_ROWS_INSERT

C. NOSQL_TABLE_DESTROY, NOSQL_TABLE_ALTER

D. NOSQL_ROWS_READ, NOSQL_ROWS_DELETE

Correct Answer: D

QUESTION 5

Which tool can be used to monitora storage server in Exadata Cloud Service?
A. OCI CLI

B. ocpucli

C. exacli

D. dbaascli

Correct Answer: C
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